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Solve each system by any method.

1)  x + y = 1
2x - 3y = 12

A)  (2, 3) B)  (-2, 3)
C)  (2, -3) D)  (3, -2)

2)  x - 4y = -16
7x + 4y = -16

A)  (4, 3)
B)  (-4, 3)
C)  (-4, -3)
D)  Infinite number of solutions

3)  y = 1
2x + 2y = 6

A)  (2, 1) B)  (-1, -8)
C)  (1, -8) D)  (-8, 1)

4)  -3x - y = -22
3x + y = 28

A)  No solution B)  (10, 10)
C)  (-8, 10) D)  (10, 5)

5)  y = 4
-x - 6y = -18

A)  (-6, -4) B)  (-1, 4)
C)  (-2, -1) D)  (-6, 4)

6)  -4x + 5y = -22
y = 2x - 14

A)  (8, 2) B)  (-8, 2)
C)  (2, -8) D)  (-5, 2)
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7)  4x + 20y = 8
x - 10y = -13

A)  (-3, 4) B)  (4, 4)
C)  (3, -4) D)  (-3, 1)

8)  -5x - 8y = -5
-2x - 5y = -11

A)  (-7, 5) B)  (-7, -9)
C)  (-7, 9) D)  (-7, 1)

9)  4x + 7y = 23
4x + 4y = -4

A)  (10, -9) B)  (-10, 9)
C)  (-8, -9) D)  (-9, -9)

10)  x - 4y = 9
5x + 2y = -21

A)  (-3, 3) B)  (3, -3)
C)  (-3, -3) D)  (-8, 3)

11)  y = 3x + 4
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Solve each system by any method. You do not have to use the given graph. 

13)  y = 5x + 3
y = -x - 3
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14)  y = -
1
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15)  2x + 3y = 6
7x + 3y = -9
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16)  x = -3
x - 3y = -9

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5



©S F2U0C1f8t mKzuGtXaE zSQoffXtYwMaVrce\ yLNLCC].C S [AJlwlW crBi`gVhztvsA Xrbejsxejr^vYejdV.v b mMBatdAea sw_iPtnhC EIfnQfXi^naiVtIey FAelLgseEberXaz x1g.

Worksheet by Kuta Software LLC

-4-

17)  x + 3y = -9
x + 3y = -12
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18)  3x + y = 2
x + 2y = -6
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19)  2x - y = 1
3x + y = 4
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20)  3x + 2y = -4
3x - 2y = -8
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